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The Leg Opposite to O is The Leg Opposite to O is
The Leg Adjacent to O is The Leg Adjacent to O is
The Hypotenuse is The Hypotenuse is
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The Leg Opposite to O is The Leg Opposite to O is

The Leg Adjacent to O is The Leg Adjacent to O is

The Hypotenuse is The Hypotenuse is
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The Length of Leg Opposite to O is The Length of Leg Opposite to O is
The Length of Leg Adjacent to O is The Length of Leg Adjacent to 0 is
The Length of Hypotenuse is The Length of Hypotenuse is y
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The Leg Opposite to B is EF The Leg Opposite to B is vw
The Leg Adjacent to O is DF The Leg Adjacent to O is uv
The Hypotenuse is DE The Hypotenuse is uw
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The Leg Opposite to O is L The Leg Opposite to O is Xz
The Leg Adjacent to O is KL The Leg Adjacent to O is XY
The Hypotenuse is JK The Hypotenuse is Yz
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The Length of Leg Opposite to O is 12 The Length of Leg Opposite to O is 8
The Length of Leg Adjacent to O is 5 The Length of Leg Adjacent to 0 is 11
The Length of Hypotenuse is 16 The Length of Hypotenuse is 15 y
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